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Neme:  Class:

Properties of addition
a. Which expression shows the identity property of addition?
O si2=0+5 [ +2)+3=3+5+2 [ s5+0=5 [ 5x(2+7) = (5x2)+(3 x5)
"b. Which expression shows the associative property of addition?
Osi0=2+5 O G+)+3=G+5+2 | [ s+o=5 [ 5x(2+7) = (5x2)+(3x5)
C. Which expression shows the commutative property of addition?
O s2=0+5 [ +2)+3=3+5)+2 [ s+0=5 [ 5x(2+7) = (5x2)+(3x5)
d. Which expression shows the distributive property of addition?
O s542=245 O 5+2)+3=GE+5)+2 | [ s+0=5 [0 5x(2+7) = (5x2)+(3x5)
_e. |dentify the addition property used in each question below.

10+ 20=20+10 > The propertyis__

/7+0=7 > The property is.

9+ (13+2)=(9+13) +2 | » The property is

2+15+7=7+2+15 > The property is.

12=12+0 | > The property is
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a. Which expression shows the identity property of addition?
O s:2-2+5 [0 (542343 = (3+5)+2 m/5+o =5 [ 5x2+7) = (5x2)+(3 x5)
"b. Which expression shows the associative property of addition?
0 5402 245 | M/(5_+2)+3 =@+5)+2 [ s+o=5 [0 5x(2+7) = (5x2)+(3x5)
C. Which expression shows the commutative property of addition?
M/5+_2 =245 [ ++3=@+5+2 | [ s+o=5 [ 5x2+7) = (5x2)+(3x5)
d. Which expression shows the distributive property of addition? |
O 5:2:24k5] O (5+2)+3=3+5)+2 | [ s+0=5 M/Sx(2+7) = (5x2)+(3x5)
_e. |dentify the addition property used in each question below.

10+ 20=20+10 > The property is__commutative.

/7+0=7 > The propertyis  identity.

9+ (13+42)=(9+13)+2 | [» The property is assiociative. |

2+15+7=7+2+15] ¥ The property is__ commutative . |

12=12+0 | > The propertyis__ | identity.
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